Sample Question Paper

Economics — 576

ISR - 576

Class —XI Session 2025-2026
Time Allowed : 3 Hrs. M.M. - 80

General Instructions:

Q) The question paper has two parts; Part A - Statistics for Economics and Part B - Indian
Economic Development .

(i) All questions are compulsory

(iii)  Marks prescribed for each question are given against it

(iv)  Question numbers 1 to 10 and 18 to 27 are objective questions. Each question carries one
mark. Answer these questions as per instructions.

(V) Question numbers 11 to 12 and 28 to 29 are very short answer type questions in which
each question carries 3 marks and the answer to each should generally not exceed 30
words.

(vi)  Question numbers 13 to 15 and 30 to 32 are short answer questions in which each
question carries 4 marks. Answers to each should normally not exceed 60 words.

(vii)  Question numbers 16 to 17 and 33 to 34 are long answer questions in which each
question carries 6 marks. The answer to each should generally not exceed 130 words.

(viii) Internal relaxation is available in some questions. You have to attempt only one of these

questions
(ixX)  Word limit does not apply to questions containing numerical and graphical.
g AR

() TY TF P aA U & UM U fRiRd & fou gifmest ek Wi &t yRdaw onfife
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(V)T T-T 1§ 10 3R 18 ¥ 27 TGS U &1 UADH UY Th 3% &1 gl Fa=i &
AR 31 W & IW S

(V) TY T 11 ¥ 12 3R 28 ¥ 29 3fd TG IWT WY &, FH ISP UY 3 3F P §
3R UdP P I IHAE: 30 Wsal ¥ 3 A€l g =Aeu|
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Part - A

1. Stages of statistics are
(A) Collection of data (B) Presentation of data (C) Analysis of data (D)Above all
Tifrat & W §
() bS] HT UG (B) Mihsl Bl U (c) 3fidbal 1 faRawr
(D) SWIad gt
2. Formula for find out Mid value is

(A) Lo-L: B)Lo+L1 (C)(LitL2)/2 (D) (Lo-L1) /2

I Y 10 B BT GF ©
A)Lely  (B)La+Li  (C)(Li+Ll2)/2 (D) (Le-Ly) /2

3. In which quadrant X,Y have (+,+) sign ?
(A) First quadrant  (B) Second quadrant (C) Third quadrant (D)Fourth quadrant
fog aqufer & xy®d 9 (++)RE g2

(A) UBET Tt (B) G&RT Fgfa
(C) TeRT Tguf™ (D) AT Trqfar

4. The value of coefficient of correlation always lies between
(A)Oand +1 (B)-1and 0 (C)-1and +1 (D) None of above

euey TUie &1 A UM ad ¥ BT ©
(A) 0 3R +1 (B) -1 3R 0 (C)-13R+1 (D)IWiad T ¥ PIg gl

5. If the arithmetic mean of a series is 20 and 5 is subtracted from every item of the series .
What will be new arithmetic mean?

(A)20 (B) 25 (C) 15 (D) 4

gfe fordll el &1 SHURIT AT 20 § SR YTl & Udd g
A 5 YT AT gl T SBIOCT J1 T g2
(A) 20 (B) 25 (C) 15 (D) 4




6. Which of the following is objective of classification?

(A) Simplifying the data (B) Summarising the data
(C) Making data comparable (D) All of the above.
fafied & 9 &F 9 THR0 FT 3= 72
(A) HipS Bl IR T (B) 3fichsl Pl ARIRIG AT
(C) 3ibSl DI Ja-id & (D) SWRIad gt
7. In case of Bar diagram ...........cccceeee. are equal.
(Height of Bar / Width of Bar)
G8 ARG & AMHA T L. RIR Bl
(TS DI HIR / TS DI dISRW)
8. divide the series into two equal parts. (Mean/Median)

@ B &l WX HE F fauia e

9. Systematic Arrangement of data into rows and columns is called.

tfgal 8k WHl § Sfids! &1 HHIG AW HI Hel Il ol

. Choose one of the correct alternatives given below .

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)
(B)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct

explanation of Assertion (A)
(C)  Assertion (A) is true , but Reason (R) is false.

(D)  Assertion (A) is false , but Reason (R) is true.
H for T T fowed # ¥ e &1 T Fivu
(A) IHYT  (A) 3R BRI (R)IHT I § 3R BRU (R), 3fHHYT (A) B
gl e gl
(B) AYHYT (A) R BHRU (R)GHl Id § 3R BRU (R), AVHYT (A) Bt
T8 re el gl
(C) FUT (A) I §, W< HRU (R) A gl
(D) 3MHBUT (A) 3T g, Wg HRU (R) I gl

10.  Assertion (A): Fisher method is known as ideal method for constructing Index number.

Reason (R): It satisfied both Time Reversal Test and Factor Reversal Test.



fipyT (A): fPeR IfYr & YEwie & Fafur & o omexl fafy & v
H S ST 2
HRU (R): T8 JHY ohH TRl 3R HREb gohH TR gl P P

BT gl
1*10=10

11. Explain the difference between Primary and Secondary data.

e 3R fgdioe siwsl & dF iR WY | 3

12. Your marks in class 10" in various subjects are given below :

3P ®el 10 H Aty fawdl # siw = fjw 7u g

Hindi

English

Mathematics

Social Science

Science

55

67

43

82

73

Calculate Mean and Median Marks .

A1 3R HAfdT 3k I TUFT B

Explain the various properties of Arithmetic Mean.

OR

I we & fafie ol & Are w1

13.  State any four limitations of Statistics.

gifgst &1 iz IR AT Fdl|

14 Draw Histogram with the help of the following data :

fFofafaa sifes! & Jerdt I i 941 -

Wages

0-20

20-40

40-60

60-80

80-100

No. of

Workers

28

46

42

30

OR

State four qualities of a good questionnaire.

o 3Bt UYIGe IR IO Sdrsd|

15. Find the Fisher Ideal Index Number with the help of following data?




fFaffed siiesl @1 gl ¥ IR Sfex Jabid

=T J1d DI

Discuss the main components of a table.

YTl b =& gedhl R Tl P

16 If N = 100 and Median = 30, then find f1 and f2 frequencies:

e N=100 3R AMHBI = 30,7 f1 3R f, SMIRAT 1T BT

Goods Base year price | Base year Current year Current year
quantity price quantity
A 5 50 7 60
B 6 15 8 10
C 8 8 11 12
D 7 20 10 15
OR

Marks 0-10 10-20 20-30 30-40 40-50 50-60
No. of 10 f1 25 30 f 10
Students

OR
Calculate Mean, Median and Mode —
A1ed, AT 3R SgAd @1 TUAT B -
Mid Value 1 2 3 4 5 6 7
Frequency 2 4 6 8 6 4 2

17. What are primary data? Discuss the merit and demerits of any one method of collecting
primary data among various methods.

e sfiws T &2 faftw faftel & I uufie s wea &xa &) et we
fafr & o1 3R IV R F=@ B

OR




Seven contestants in a poetry competition are judged by two judges in the following order.
Calculate rank coefficient of correlation and also interpret the results.

TH Higar gfadifar & ad wfauifel &1 qeaied & Fufge grr fAafafed w0
H foar ST 81 UgHeY &1 JUNUie aR@id B adT GRumEl &t e
Eadl

Judge A 12 10 8 10 11 9 15
Judge B 26 20 24 20 18 22 20
PART -B

18.  Which year is often referred as the “Year of the Great Divide” ?

fog af &1 «wgH fQues &1 9 & War 72
(A)1921 (B) 1920 (C) 1950 (D)1951

19. Literacy Rate in India as per census survey 2011.

SIOMT A& 2011 & SR YRd H WERAT & FT &2
(A)74% (B)56%  (C)65% (D) 60%

20. In which year NABARD was established ?

qere & WU g 9y gg d
(A)1969 (B)1982 (C)1981 (D) 1991

21. In which country population growth is highest ?

(A)India (B) China (C) Pakistan (D) None of these

fPy oz & e gfe e Sifde 72
(A) HRd (B) (C)UTfpd™ (D) §TH
g Dls ol

22.  Which of the following item was not exported before independence ?

(A)Cotton clothes (B) Tea (C) Jute (D) Engineering goods

WaAar ¥ uga Fufafed § ¥ @ @ axg a8 & ot o
(A)gdl PUS  (B)I™  (C)TC (D) SHI-ART M

23. The Great Leaf Forward (GLF) was centered :-




24,

25.

26.

(A) on Extensive industrialization (B) on economic reform
(C) on New agricultural policy (D) on Privatisation

U ois WRAS (GLF) dfad oT: -
(A) TS SEIRNHRT TR (B) 3MMffs YUR W

)T BN Hfd w® (D) Frsfiexr W
Tax Reform is a key component of .................. reform
(Monetary / Fiscal)
PR GUR o oo JYR &1 UHh WE 9Ch gl
(AfE® / ISHIN)

Marginal productivity of labours are zero in .............c.c.........
(under employment / Disguised Unemployment)

....................... H yffl o WHid IdeHal YT el o
(SRR / T=3d  SRISIRY)

Freedom of producing unit from direct or physical control imposed by the government is
called.

WHR gRI WU T Y& g1 Hifde o § Idcsd bl bl Waddl
P FT Hed o2

Choose one of the correct alternatives given below .

(A)  Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)

(B)  Both Assertion (A) and Reason (R) are true and Reason (R) is not the correct
explanation of Assertion (A)

(C)  Assertion (A) is true , but Reason (R) is false.

(D) Assertion (A) is false , but Reason (R) is true.

4= fir U OE fordl H ¥ TS &1 T DI

(A) fUBUT (A) 3R BRU (R)GH TI & 3R BRU (R), AHBYT (A) B

el IR gl
(B) 3fHBYT (A) R PRUT (R)GHl Id & 3R BRU (R), AHBUT (A) Bt

T8 re el gl
(C) AYHYT (A) I 8, Wg HRU (R) 3T 7|




27.

28.

29.

30.

31.

(D) HUFHYT (A) 3T 7, R BRI (R) I gl

Assertion (A) : Disguised unemployment is found in agriculture.

Reason (R) : Due to joint family system more labour than required are engaged in
agriculture

ABYT (A): P T TS RISR T St 2
PRU (R) : Ggad URAR UMl & HRUT aGdhal  3fed 4ffis oy d
@ Ed gl

1*10=10
Explain meaning and features of Sustainable Development.
Iad fae™ &1 o SR faRivad Wy @il
OR
Explain the main functions of Environment.
TRl & & ® $HI IARAT Hifod| 3

Why China became successful to control population growth rate in compare to India.
YRd @] a1 § o9 S9e gfa @R & MR oA 4 9%a ®&f @1

Discuss the principle causes of the backwardness of Indian economy at the time of
independence.

WA & I09 YR SifaRll & fUseud & UgE HRUI & 94
BIfTT|

OR

Explain the characteristics of Indian Economy on the eve of independence.

Wdadl & T HRAT ifcgawy &t fAQudiel ot s Hifvu| 4

Describe the failure of Green Revolution in India.

YRd H gRa wifd &t fawad &1 gul= Hifsm|
OR

Clarify the meaning and advantages of organic farming .

Sfae Tt &1 3 R TH WY PR 4



32.

33.

34.

At present unemployment is the main problem in India. According to you what are the
main factors responsible for unemployment ?

gqAE T HRd H RISMRT U6 W 99T g1 3Ud AR SRISART &
fou IR g1 RS T B2 4

What do you mean by economic reforms ? Discuss the need of economic reforms.

M GuURT F oMU 71 0 &2 e QuRT &1 Sawgdwal W =l
DIt
OR

What you mean by liberalization? Explain the measures adopted for liberalization.

JeSRIBRUT T 3T T JHST 82 SSRIBRU P T 3T W UMY bt
IRAT DI 6

Explain the main challenges of rural development.

U fqe @t UgE gAfadl &l SARe difod|

OR

What the main problems of Human Capital formation in India?

YRd # AMd goit fFHfor & T gewd @1 |2 6



